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1. f A={-2, -1,0,1,2} and f:A — B is a

surjection defined by f(z) = z*> + x + 1 then find B.

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_d6kFrkV7rgim

2. Find the domain of the real function

10g(:c2 — 4 + 3)

o Watch Video Solution

x—2 2y—38 5 2
3.IF = then find the
z2+2 6 —2 a—14

values of z,y,z and a.

o Watch Video Solution

10 0
4. IFA =12 3 4 | and det A=45 then find x.
5 —6 «x

o Watch Video Solution



https://dl.doubtnut.com/l/_ImHp2YzkRlek
https://dl.doubtnut.com/l/_NfQzQNq56TTl
https://dl.doubtnut.com/l/_LPQ7QWN1ekns

51Fa=2i+5j+k,b=4i +mj+ nk are collinear

vectors then find m,n.

° Watch Video Solution

6. Find the vectors equation of the line passing through

the points

21+ j+3k, —4i +35—k

° Watch Video Solution

7. Find the area of the parallelogram whose adjacent

sides are

a=2i—35,b=237—k


https://dl.doubtnut.com/l/_INRd3S7PFSvv
https://dl.doubtnut.com/l/_wOLwxSM5Qzci
https://dl.doubtnut.com/l/_IGzI3yOyN9Fr

° Watch Video Solution

8. Find the period of tan(a: +4x 4+ 9z + .......

(n any positive integer)

° Watch Video Solution

9. Prove that tan70° — tan20° = 2tan50°.

o Watch Video Solution

10.IF sinhz = 5,then STz = log, (5 + 1/26)

o Watch Video Solution



https://dl.doubtnut.com/l/_IGzI3yOyN9Fr
https://dl.doubtnut.com/l/_VrTsvnludLnV
https://dl.doubtnut.com/l/_yWJCQu4XkfeA
https://dl.doubtnut.com/l/_X42QyOiBejue

1. If A is a non-singular matrix then prove that

1 adjA

o Watch Video Solution

12. If ABCDEF is a regular hexagon with centre O , then

PTAB+ AC + AD + AE + AF = 3AD = 6A0

o Watch Video Solution

13. Find the equation of the plane passing through the

point A=(2,3,-1),B=(4,5,2),C=(3,6,5).

[ o Watch Video Solution


https://dl.doubtnut.com/l/_X42QyOiBejue
https://dl.doubtnut.com/l/_cgPfSdyELAIQ
https://dl.doubtnut.com/l/_f0VGOEv4E5Kt
https://dl.doubtnut.com/l/_no7kLoonqAAI

14. Show that

COS — COS —— CoOS —— COS — = —
8 8 8 8 2

° Watch Video Solution

15.Solve 4 cos® @ + /3 = 2(/3 + 1)cos @

o Watch Video Solution

4 1
1n <5> an 3

o Watch Video Solution



https://dl.doubtnut.com/l/_no7kLoonqAAI
https://dl.doubtnut.com/l/_p8fMdQ1ry7qh
https://dl.doubtnut.com/l/_Y72qFQcw7h70
https://dl.doubtnut.com/l/_z76fdCcOVlhe
https://dl.doubtnut.com/l/_naGBYMji6yYY

a? + b2 + 2
4A

17. Prove that cot A + cot B + cot C =

° Watch Video Solution

18.If f: A — B,g:B — C are two bijective functions

then prove that gof: A — C'is also a bijective function.

o Watch Video Solution

19. Using the principle of Mathematical Induction, Show

that 49" 4 16n — 1is divisible by 64, Vn € N.

o Watch Video Solution



https://dl.doubtnut.com/l/_naGBYMji6yYY
https://dl.doubtnut.com/l/_Tvfq1gMH4XES
https://dl.doubtnut.com/l/_B0jyGntws9s7
https://dl.doubtnut.com/l/_SpUsgvlw26TY

b+c c+a a+bd a b c
20.Showthat|c+a a+b b+c| =2|b ¢ a
a+b b+c c+a c a b

o Watch Video Solution

21. Solve the system of equations
2r —y+3z2=9z+y+z2=6,r —y+ 2 =2 using

Gauss Jordan method.

o Watch Video Solution

22.Find the shortest distance between the skew lines.

=31

= (63—#23’—#2]}) —|—t(5—23’—|—21_<:) and

7= (—4i—k) +s(3i — 2j — 2k)



https://dl.doubtnut.com/l/_SpUsgvlw26TY
https://dl.doubtnut.com/l/_Vwcsei9gGcET
https://dl.doubtnut.com/l/_AQUioE87mECs

l & Watch Video Solution J

23. IF A+B+C=m , then PT
, A , B 2 C o4 sin A Ban C
COoS 5 <+ cos 5 + cos ? = 4+ sin ?sm ?sm§

o Watch Video Solution

24. In a A ABC if a=13,b=14,c =15 then ST

65 21
R:?,T:4,T1: 7,7‘2:12,1“3:14.

o Watch Video Solution



https://dl.doubtnut.com/l/_AQUioE87mECs
https://dl.doubtnut.com/l/_6Bn8uLnvgaX6
https://dl.doubtnut.com/l/_xD68aLYCYCoB

